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Sepal.Length Sepal.Width Petal.Length Petal.Width Species
5.1 3.5 1.4 0.2 setosa
4.9 3.0 1.4 0 setosa
3 4 setosa
51 4 4 versicolo
52 6.4 3.2 4.5 1.5 versicolor
6.9 3 4.9 S wersico
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> iris.lab<-c(xrep("S",50),xep("C",50),rep("V",50))
irisl<-data.frame(iris[,1:4],species=iris.lab)

> even.n<- (L:75)-1

> iris.train<-irisl[even.n,] < NN F Ml 42 2\

> iris.test<-irisl[-even.n,] 1%ﬁ4jkwﬁ‘jabﬂ cﬂ‘%
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> library (MASS)

> (Z.lda<-lda (Species~.,data=iris.train))
Call:

lda (Species ~ ., data = iris.train)

Prior probabilities of groups:
C S v
0.3333333 0.3333333 0.3333333

Group means:
Sepal.Length Sepal.Width Petal.Length Petal.Width —

C 5.992 2.776 4.308 1.352
5 5.024 3.480 1.456 0.228
v 6.504 2.936 5.564 2.076

Coefficients of linear discriminants:
LDl LD2
Sepal.Length -0.5917846 -0.1971830
Sepal.Width -1.8415262 2.2903417 %2*“2“@@&0)%&
Petal.Length 1.6530521 -0.740670
Petal.Width 3.5634683 2.6365924

m

Proportion of trace: N \
LDl  LD2 F1THRIBBOREL

0.9913 0.0087
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> apply(Z.ldaSmeans%$*%$Z.ldaS$scaling, 2,mean)

LD1 LD2
1.486146 6.282412
> Z.lda$scaling[,1]%$*%t (iris.train[,1:4])-1.486146
1 3 5 7 9 11 13 15
[1,] -7.922623 -7.298756 -8.047597 -7.086231 -6.403458 -8.303158 -7.180671 -9.588245
17 19 21 23 25 27 29 31
[1,] -8.28938 -7.977889 -7.42009 -8.472104 -6.734408 -6.635987 -7.797648 -6.677866
33 35 37 39 41 43 45 47
[1,] -9.277758 -6.90235 -8.324642 -6.752915 -7.672402 -7.121221 -6.935861 -8.14447
49 51 53 55 57 59 61 63
[1,] -8.243979 1.236679 2.166967 2.460223 2.179469 1.504198 1.221029 1.087466
65 67 69 71 73 75 77 79
[1,] 0.4429307 2.459219 3.577369 3.478334 3.626953 1.12664 2.256951 2.406657
g1 83 85 87 89 91 93 95
[1,] 1.040789 0.8324478 2.577576 1.954713 1.085304 2.020662 1.181906 1.8030867
97 99 101 103 105 107 109 111
[1,] 1.375583 -0.2290915 7.535558 6.023896 6.570008 4.506925 5.947027 4.331873
113 115 117 119 121 123 125 127 129
[1,] 5.54021 6.90812 4.648705 8.771181 6.156031 7.003225 5.377541 4.037409 6.310534
131 133 135 137 139 141 143 145
[1,] 5.832582 6.666881 4.361947 6.333838 3.787461 6.649582 5.310538 6.802929
147 149

[1,] 5.217646 5.706059%
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> table(iris.train[,5],predict(Z2.1lda) $class)

cC 5 W
c24 0 1
S 025 0
Vv 1 0 24
> plot(Z.1lda,dimen=1)— > 9, 2
; |1:_._4t|,~._da,d_rr.»:.- 2)— > 9. 3
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; Y<-predict(Z.lda,iris.test[,-5])
> table(iris.test[,5],YSclass)
cC 5 V
c24 0 1 S V
S 025 0
+ plot (¥5x, type="a) e W
> E: CIE:"" :__:Il'jr-_ =iriz.testfSpecies) S v Vv
> - SS S c v
\
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> 1irias CX <—-da | ﬂpf:_‘r';ee'v.,data:;r 3
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> (lda.tab<-table(iris[,S5],1iris.

RN L T I TIT IS

CvV= TRUE@*)%  1DZfRY

setosa versicolor wvirginica

setosa 50 0 0
versicolor 0 48 2
virginica 0 1 49

>

> sum(lda.tab[row(lda.tab)==col (lda.tab)])/sum(lda.tab)

[1] 0.98

> sum(lda.tab[row(lda.tab) !=col(lda.tab)])/sum(lda.tab)

[1] 0.02
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